Math 10 Winter 2019 . Name: Last ‘ (030 $ (& 30 First {Qf“{ 6 p‘ MQ

Quiz Chapter 2 Form B Clrcle Class Sectloanlme 11:30 (10. 17) 12: 30 (10 14, IOH 14H)
, : 1 pomt deduct/on if you do not.circle olass time : :

1. [ 4 points] Two science classes took mldterm exams that were graded out ofa maxxmum of 100 pomts

- Minimum | Maximum Mean | Standard Deviation Number of Students
Biology Exam 57 . 97 81 6 41
Chemistry Exam 52 92 79 7 34

a. Using the most appropriate measure of variation in data, which class exhibits more variation in the grades?

A. Both the same B. Biology D. Not enough information to determine

answer: (L (Sjrcuf\dajydt dieuiation s \mal/uz,r)_

b. For the blology class, find the value that is 1.2 standard dev1at10ns below the mean.
‘ Show work; Round to one dec:mal place’ (tenths)

%14(!-3-)((03 = %0722 738

2 [ 4 points] .

Juan, Kenji, -and Lamar have entered b1cycle races. The races for each age group are dlfferent lengths,

+ Juan is 8 years oId Kenji is in 11 years old. Lamar is 13 years old.

We want to compare who (Juan Kenji, or Lamar) does best i in his own race, compared relative to the other

children in thexr same age group.

Timé for all participants { Time for this child participating in the race.
' ~ inage group o - v _
Age - | Average Time  |-Standard: Childin race | Time in minutes this person
Group __(mean) | Deviation v took to complete. the race’
{Age8 | 6minutes 1T Juan 5.2
Age 11 15minutes {3 Kenji KL
Age13 | 12 minutes ] 2 Lamar 9

Y Recall that when racing, the best times are shorter times which are faster.
- Whose racing time is the best compared relative to the other chlldren in the same race for their age group?

LAMAR

You must show correct work for credit — no correct Work earns no credit, even if conclusion is correct,
Show all ¢alculations accurate to two decimal places.

Toon ' 2= G2-b). .}
v o {

State your conclusion and show your work to justify your answer.

CoMour's & - Score (S \OUJC%{_-

He s most staundend
ceviakions oo OJ"QIOO(L’
compored to Juan & Kenyt

% (Louoe.r vace s cue fo-stey;
TURN PAGE OVER
Ssob vt e le YFOR QUESTION 3
_ (12 points total)

K&V\_Ji; A (6= ~{,33
LD

Lemanrs 2 =»@(H‘fa~1)_. = ~1.5




o Pl G- o B
Form B , :
3. The Superintendent of an elementary school dlstrlct was mvestlgatmg the number of students per class
- She collected data for €random sample Of 20 classes from the district’s schools.

“The data marlzed in th below .
ke i)

X = Turfber of | Frequercy “'Relative | Cumulative Relative ' B
students in the fﬂ?lmbery Fr_equency . F-requ_ency ' \Va.r%{-a&s L\’ YLL
~class* - | ofclasses , : S ovr
16 2 o0 ' 0.1
25 5 o025 035] \varstek
26 4 02 - 0551 ylhwet LI
29 1 0.05 0.6 ' '
30 5 025 oss| g L
32 2 01| 0.95 |
35 1 0.05 1

a. [ 4 points] Find the IQR, mean, and appropriate standard deviation for this data.
" "Round mean and standard deviation to 2 decimal places (_.__ _ hundredths).
Incorreot roundmg may be mterpreted asan /ncorrect answer and may lose pomts

C> IQR = 5 Mean = 2(O°Q5 X Approprlate Standard Deviation = 4.15 =9
@3>-Q1=30-25
S students per class.

b. [ 2 pomts] Find the class size that is the- 20 percentile :
’ Arst Wrne_akte Qo.ssm% 30\ comoladhue_ telakive Cfac{, celonn

S C. [ 2 points] The 90th percentile is a class size of 32 students. erte the two complete sentences that
' lnterpret the meanmg of the 90" percentlle in the context of this problem

Ci’CDC’/o o@ *\—&p. classes had 32 shudents o less
‘Oofo o(’-\\'e.n_ classes \no.d 3. students OV More,

You must show correct work for credit in
partd- no correct work earns no credit,
evenif conclusion is correct,

d. [ 4 points] Are there any outliers?

State your conclus1on identifying what are the class sizes
for all outliers or stating that there are no outhers

Show work to justify your answer.

TRR=QI-Q\=230025=5

\owerFence: Ql-1.3TAR*™ 25 -1.9(d = 1.9
Opper Rnce t Od+1STQR= 20 +1.5(8) =219
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